Division of Civil Engineering at the University of Queensland, 2007/2

CIVL3140 Introduction to Open Channel Hydraulics - TUTORIAL 3

1. Uniform equilibrium flows

1.1 A concrete trapezoidal channel (1V:3V sideslopes, 1.2 m bottom width) is designed to carry 52 m3/s. Calculate the
uniform equilibrium depth for a bed slope of 0.0012. Is the invert slope a mild or steep slope ?

Numerical solution: dy = 2.25 m (kg = 1 mm), Mild slope (but almost critical slope (Fry = 0.84))

1.2 An open channel must be lined with riprap to satisfy environmental regulations. The channel has a trapezoidal
cross-section with an invert slope of 0.0009. The bottom width is 3-m and the side slopes are 1V:2H. Assuming a
Gauckler-Manning coefficient of 0.03, calculate the normal depth for Q =28 m3/s.

Numerical solution: dy =2.63 m

1.3 Considering a rectangular channel (B = 12 m), the uniform equilibrium depth is 1.1 m and the bed slope is 0.02.
The channel is rough concrete (kg = 5 mm). Calculate the flow rate.

Numerical solution: Q =110 m3/s, £=0.021, Fr=2.5,1,= 182 Pa

1.4 A storm waterway channel consists of a 1.5 m deep concrete lined rectangular channel (B = 2.3 m) surrounded by
two grass-lined flood plains (B = 25 m each, kg = 100 mm). The beds of the flood plain are at the same elevation : i.e.,
1.5 m above the deep channel invert. The bed slope is 0.001 (S, = 0.1%).

During a flood event, the observed water depth in the deep channel is 2.1 m. Assuming uniform equilibiurm flow
conditions, calculate the total flow rate conveyed by the storm waterway. Estimate the discharges in the concrete-lined
and in each flood plain.

Numerical solution: Q = 35.6 m3/s (10.6 m3/s in the deep channel and 12.5 m3/s in each flood plain)

2. Gradually-varied flows

2.1 A concrete-lined rectangular channel (B = 21 m) supplies a discharge of 33 m3/s to a hydropower plant. The
longitudinal bed slope is 5 m per km. At a gauging station, the measured flow depth is 1.85 m.

(a) Predict the type of free-surface profile (as per textbook pages 104-105, or Henderson pages 107-111).

(b) Will the downstream flow depth be larger or smaller than at the gauging station ?

(c) From where is the flow (at the gauging station) best controlled ?.

Numerical solution:

(a)dy,=0.483m & d,=0.63m=d,<d, <d

This is a steep slope with a S1 free-surface profile :e.g., a subcritical flow downstream of a hydraulic jump on a steep
slope.

(b) The flow depth will increase with incresasing downstream distance (Profile S1).

(c) The flow is subcritical and it is best controlled from downstream as for any Profile S1.

2.2 An artificial canal carries a discharge of 20 m3/s. The channel cross-section is trapezoidal and symmetrical, with a
1.1-m bottom width and 1V:1.5H sidewall slopes. The longitudinal bed slope is 12.5 m per km. The channel bottom
and sidewalls consist of a mixture of fine sands (d5p = 0.8 mm). At a bridge, crossing the waterway, the observed flow
depth, at the gauging station, is 2.1 m.

(a) Predict the type of free-surface profile (as per textbook pages 104-105, or Henderson pages 107-111).



Assume that the equivalent roughness height equals the median sediment size. See discussions in textbook pages 84 &
234-235.

(b) Using the software HydroChan, compute the water depth 80 m upstream of the bridge.

Assume a Keulegan coefficient k = d ). See discussion in textbook p. 78.

(c) Assuming that the observed water depth at the bridge is 3.2 m, use the software HydroChan to compute the water
depth 80 m upstream of the bridge.

Numerical solution:

(a) dy < d. < d = profile S1

This situation corresponds to a steep slope (d, <d)

(b) The problem cannot be solved because the observed flow depth is smaller than the subcritical conjugate depth and
greater than the supercritical conjugate depth.

Physically, this flow situation may occur downstream of a break in slope, or downstream of a control structure, but it
cannot take place in a long prismatic channel.

(c) The problem has a solution because the observed flow depth is greater than the subcritical conjugate flow depth : d
= 1.15 m at x = -80 m. Note the presence of a hydraulic jump at x ~ -62 m

2.3 A 25-m wide rectangular spillway is designed to carry 1000 m3/s. The spillway system comprises a broad-crest
followed by the spillway chute built on the downstream slope of the embankment dam. The chute invert slope is 25°.
(The channel is made of rough concrete (kg = 10 mm).)

Calculate the water depth and flow velocity at an elevation 10-m below the crest elevation (i.e. Zy = Zgpegt - 10 m).
Design your own spreadsheet calculations using a standard step method (distance calculated from depth). (See
textbook pages 106-108 & 275-288.)

Numerical solution: d=2.335m, V=17.13 m/s

Revision problems
Each and every student is strongly encouraged to work on the Revision exercises and Problems in the textbook, pages
111-118 & 533-572. The latter pages include also some hydrology questions.

Textbook

More exercises in textbook pp. 87-93, 108-110, 111-118, 288-289, 533-572.
"The Hydraulics of Open Channel Flow: An Introduction", Butterworth-Heinemann Publ., Oxford, UK, 2004.

More Exercises at : {http://www.bh.com/companions/0340740671/}
Go to Exercises, Part 1 : {http://www.bh.com/companions/034074067 1/exercises/exercisesP1.htm}





<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /SyntheticBoldness 1.00
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveEPSInfo true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /Unknown

  /Description <<
    /FRA <>
    /ENU (Use these settings to create PDF documents with higher image resolution for improved printing quality. The PDF documents can be opened with Acrobat and Reader 5.0 and later.)
    /JPN <FEFF3053306e8a2d5b9a306f30019ad889e350cf5ea6753b50cf3092542b308000200050004400460020658766f830924f5c62103059308b3068304d306b4f7f75283057307e30593002537052376642306e753b8cea3092670059279650306b4fdd306430533068304c3067304d307e305930023053306e8a2d5b9a30674f5c62103057305f00200050004400460020658766f8306f0020004100630072006f0062006100740020304a30883073002000520065006100640065007200200035002e003000204ee5964d30678868793a3067304d307e30593002>
    /DEU <>
    /PTB <>
    /DAN <>
    /NLD <>
    /ESP <>
    /SUO <>
    /ITA <>
    /NOR <>
    /SVE <>
  >>
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


